1.Consider the following cell at equilibrium: 

Mg(s) / Mg+2 (0.01 M) // OH- (?) / Mg(OH)2 (s) / Mg (s) 
Given: Mg+2 + 2e- ↔ Mg(s) Eo = -2.360 V 

Mg(OH)2 (s) + 2e- ↔ Mg(s) + 2 OH- Eo = -2.690 V 

a) Write each half-reaction and the net cell reaction. Find the standard net cell potential. 

b) Find the pH of the right cell when the cell is at equilibrium. 

c) Draw the cell, clearly mark all the components, and show the anode and the cathode, and the direction of the flow of electrons. Which side of the cell is the reduction taking place? 
